——
llm\\

OBC

Oskoyi Ballbearing Company

Straight Line Push-Pull Type Toggle Clamps

Fi q
VOO | (STAINLESS) | (BLACK) i i VERIM B?SSSL\EIIE%SI srrox | (WEIGHT)
(N) (N) YELD | scpew) (or)
(F1:Fi)
new) 510-0-M | S511-.. | BS11-.. | 550 700 201 M4X25 15 87
I—— Q. 511-0 SS11-.. | BSIl-.. | 550 700 201 MaX25 15 9
511-1 SS11-.. | BSil-.. | 800 970 211 M5X35 2 135
511-2 SS11-.. | BSi1-.. | 1500 1700 261 M6X40 7 280
511-3 SS11-... | BSIl-.. | 2500 2640 271 M8X50 38 490
511-5 Ss11-.. | BSI1-.. | 3500 3700 381 M10X70 53 90
511-6 SS11-... | BS1l-.. | 4500 4650 38:1 M10X70 53 1070
[ F1: BASKI KUVVETI ( EXERTING FORCE ), F5 : TUTMA KAPASITESI ( HOLDING CAPACITY ), Fi : UYGULAMA KUWVETI ( APPLIED FORCE) |
i

F3
L3
B
N
-
Body Mounting Base Horizontal «
- Eimllv]}' fin) w| <

g
L3 C B2 E2 L3 C B2 £2
L L2 L L2
B :]
B3 E B3 E
1
x| >
Body Mounting Base Horizontal -
N
MODEL NO : 51-0-M MODEL NO : 51-0
(KAPLAMASIZ METAL SAP)
(UNCOATED METAL HANDLE)
13| L3
MODEL NO A B | B2 | B3 | C D E E2|F| 6 Ho| H2 ] K L | L - N
Min Max
511-0-M | 32 45 | 18 | 13 | 32 | Mioxt 16 1116|135 | 39 | 67 7 M4 | 82 |505| 10 | 25 | 045
511-0 32 45 | 18 | 13 | 32 | Mioxt 16 1116|135 | 48 | 73 7 Mé | 82 | 56 | 10 | 25 | @45
511-1 44 20 | 115 34 | M12x15 | 21,5-315 195 | 795 | 92 8 M5 | 73 | 685 | 15 | 38 |55x105
511-2 53 | 245 | 155 4 | MI6x15 | 30-40 245 9% | 111 | 10 | M6 | 89 | 80 | 19 | 46 | 6xi1
511-3 60 30 | 175 56 | M20x15 | 335-425 305 | 137 | 140 | 12 | M8 | 116 | 80 | 24 | 58 |65x11
511-5 78 36 | 21 75 | M24x15 | 42-57 38 | 152 | 179 | 14 | w10 | 155 | 135 | 32 | 74 |85x16
511-6 78 36 21 75 M24 x 1,5 42 -57 38 152 179 16 M10 155 135 32 74 8,5x16

(021) 33913364 - 33951660 : wili ¢J

(021) 33985603 : uuSS PR




	Page 2

